VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

STAINLESS STEEL HANDRAIL
MODEL: HXML-1 \ HXML-2

We continue to be committed to provide you tools with
competitive price. "Save Half", "Half Price" or any other
similar expressions used by us only represents an estimate
of savings you might benefit from buying certain tools with
us compared to the major top brands and does not
necessarily mean to cover all categories of tools offered
by us. You are kindly reminded to verify carefully when
you are placing an order with us if you are actually
saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR STAINLESS STEEL

TOUGH TOOLS, HALF PRICE R

MODEL:HXML-1 \ HXML-2

NEED HELP? CONTACT US!

Have product questions? Need technical support?
Please feel free to contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual
instructions carefully before operating. VEVOR reserves a
clear interpretation of our user manual. The appearance of
the product shall be subject to the product you received.
Please forgive us that we won't inform you again if there are
any technology or software updates on our product.



SAFE INSTRUCTIONS

CAUTION: Carefully read instructions and procedures
for safe operations. Failure to do so can result in serious

injury.

/\ WARNING:

1.Before using the handrail, ensure that the handrail is
securely installed to prevent personal injury and
accidents.

2.When using the handrail, do not overload the handrail
to avoid personal injury or accident.

3. Do not draw, cut, or use sharp objects on the handrail
to avoid damage.

4. If you need to disassemble the handrail, please follow
the reverse steps to disassemble and store it properly.
5. This product is not a toy. Do not allow children to play
with this item.

ASSEMBLY PRECAUTIONS
1. Assemble only according to these instructions.
Improper assembly can create hazards.
2. Wear ANSI-approved safety goggles and heavy-duty
work gloves during assembly.
3. Keep assembly area clean and well-lit.
4. Keep bystanders out of the area during assembly.
5. Do not assemble when tired or under the influence of
alcohol, drugs or medication.
6. Product capabilities apply to properly and completely
assembled products only.
7. For additional information regarding the parts listed in
the following pages, please refer to the Assembly
Diagram of this manual. Unwrap and separate all parts
in a clean work area.
8. For safety reasons, this hardware is recommended to
be installed by 2 people .
SAVE THESE INSTRUCTIONS



Model Length Of Handrail (mm)
LA 800
HXML-2 1535
COMPONENTS
No. Name Picture aTy.
A Pillar T
Big —
B Decorative @ 1
Cover
Adjustable
1
¢ Support
¥
D Handrail 1
\¢
Small
E Decorative 1
Cove
F | Fixed Part 1
G | Screw M6*12 5
H Nut M6 P )
| | Screw St5*40 ] 5
Plastic ‘
J Expansion Ii/\ﬁ ;
Tube
Expansion ’
&
K Screw / \
M8*60
L Wrench ;




M Hex Key r 2
N Drill Bit &
O | Cross Wrench /L\

P | Scouring Pad

STEP 1:







/

Manufacturer: Shanghaimuxinmuyeyouxiangongsi
Address: Shuangchenglu
803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250,
9166 Anaheim Place, Rancho Cucamonga, CA 91730
YH CONSULTING LIMITED.

UK | REP C/O YH Consulting Limited Office 147,

Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC REP| Mainzer Landstr.69,
60329 Frankfurt am Main.




VEVOR

TOUGH TOOLS, HALF PRICE
Technical Support and E-Warranty Certificate

www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support

MAIN COURANTE EN ACIER INOXYDABLE

MODELE : HXML-1\ HXML-2

Nous nous engageons a vous fournir des outils a des prix
compétitifs. « Economisez la moitié », « Moitié prix » ou toute
autre expression similaire utilisée par nous ne représente qu'une
estimation des économies que vous pourriez réaliser en achetant
certains outils chez nous par rapport aux grandes marques
et ne signifie pas nécessairement couvrir toutes les catégories
d'outils que nous proposons. Nous vous rappelons de bien
vouloir vérifier soigneusement lorsque vous passez une

commande chez nous si vous économisez réellement la moitié par rappor


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR ACIER INOXYDABLE
RAMPE

TOUGH TOOLS, HALF PRICE

MODELE : HXML-1 \ HXML-2

el

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur les produits ? Vous avez besoin d'assistance technique ?

N'hésitez pas a nous contacter :

Assistance technique et certificat de garantie
électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement
toutes les instructions du manuel avant de I'utiliser. VEVOR se
réserve le droit d'interpréter clairement notre manuel d'utilisation.
L'apparence du produit dépend du produit que vous avez regu.
Veuillez nous excuser, nous ne vous informerons plus s'il y a des
mises a jour technologiques ou logicielles sur notre produit.



Machine Translated by Google

CONSIGNES DE SECURITE

ATTENTION : Lisez attentivement les instructions et les procédures

pour des opérations s(res. Le non-respect de cette consigne peut entrainer de graves

ﬁure.ATTENTION :

1. Avant d'utiliser la main courante, assurez-vous que la main courante est
solidement installé pour éviter les blessures corporelles et

accidents.

2.Lorsque vous utilisez la rampe, ne la surchargez pas

pour éviter les blessures corporelles ou les accidents.

3. Ne pas dessiner, couper ou utiliser d'objets tranchants sur la rampe
pour éviter les dommages.

4. Si vous devez démonter la rampe, veuillez suivre

les étapes inverses pour le démonter et le ranger correctement.

5. Ce produit n'est pas un jouet. Ne laissez pas les enfants jouer avec

avec cet article.

PRECAUTIONS D'ASSEMBLAGE

1. Assemblez uniquement selon ces instructions.

Un assemblage incorrect peut créer des dangers.

2. Portez des lunettes de sécurité homologuées ANSI et des vétements résistants.
gants de travail lors du montage.

3. Gardez la zone de montage propre et bien éclairée.

4. Gardez les spectateurs hors de la zone pendant le montage.

5. Ne pas monter lorsque I'on est fatigué ou sous l'influence de
alcool, drogues ou médicaments.

6. Les capacités du produit s'appliquent correctement et complétement
produits assemblés uniquement.

7. Pour plus d'informations sur les piéces répertoriées dans

les pages suivantes, veuillez vous référer a I'Assemblée

Schéma de ce manuel. Déballez et séparez toutes les piéces

dans un espace de travail propre.

8. Pour des raisons de sécurité, ce matériel est recommandé

étre installé par 2 personnes .
CONSERVEZ CES INSTRUCTIONS



Machine Translated by Google

Modéle Longueur de la main courante (mm)
HXML-1 800
HXML-2 1535
COMPOSANTS
Non. Nom Image QTE.
UN Pilules =
Grand —
B Décoratif =
Couverture
c Réglable
Soutien
v
D Rampe
L
Petit
ET Décoratif
Crique
F Partie fixe

Vis G M6*12

H Ecrou M6

Je \lis St5*40

Plastique

J Expansion
Tube

Expansion
K Vis
M8*60

L Clé




Machine Translated by Google

Clé hexagonale

N Foret g

Clé a molette en croix SN

Tampon a récurer P

ETAPE 1 :




Machine Translated by Google

ETAPE 2

ETAPE 3

ETAPE 4 :

ETAPE 5




Machine Translated by Google

ETAPE 6 :

ETAPE 7 :

—

Fabricant : Shanghaimuxinmuyeyouxiangongsi Adresse :

Shuangchenglu
803nong11hao1602A-1609shi, baoshanqu, shanghai 200000 CN.

Importé en Australie : SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australie

Importé aux Etats-Unis : Sanven Technology Ltd. Suite 250, 9166

Anaheim Place, Rancho Cucamonga, CA 91730

UK

REP

EC

REP

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147,
Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat

WwWw.vevor.com/support

EDELSTAHL-HANDLAUF
MODELL: HXML-1\ HXML-2

Wir sind weiterhin bestrebt, lhnen Werkzeuge zu
wettbewerbsféhigen Preisen anzubieten. ,Sparen Sie die Halfte",
LHalber Preis“ oder andere ahnliche Ausdriicke, die wir verwenden,
stellen nur eine Schéatzung der Ersparnis dar, die Sie beim Kauf
bestimmter Werkzeuge bei uns im Vergleich zu den gro3en
Topmarken erzielen kénnen, und decken nicht notwendigerweise
alle von uns angebotenen Werkzeugkategorien ab. Wir mochten
Sie freundlich daran erinnern, bei einer Bestellung bei uns

sorgféltig zu priifen, ob Sie im Vergleich zu den gro3en Topmarken tatsacl


https://www.vevor.com/support

Machine Translated by Google

®
GELANDER

TOUGH TOOLS, HALF PRICE

MODELL: HXML-1 \ HXML-2

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Sie haben Fragen zu Produkten? Bendtigen Sie technischen Support?

Nehmen Sie gerne Kontakt mit uns auf:

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgfaltig
durch, bevor Sie das Gerat in Betrieb nehmen. VEVOR behalt sich eine
klare Auslegung unserer Bedienungsanleitung vor. Das Aussehen des
Produkts hangt vom Produkt ab, das Sie erhalten haben.

Bitte haben Sie Verstandnis, dass wir Sie nicht erneut informieren,
wenn es Technik- oder Software-Updates zu unserem Produkt gibt.



Machine Translated by Google

SICHERE ANWEISUNGEN

ACHTUNG: Lesen Sie die Anweisungen und Verfahren sorgfaltig durch
fur einen sicheren Betrieb. Andernfalls kann es zu schweren

\@zungen.WARNUNG:

1. Bevor Sie den Handlauf verwenden, stellen Sie sicher, dass der Handlauf
sicher installiert, um Verletzungen zu verhindern und

Unfélle.

2.Wenn Sie den Handlauf benutzen, tberlasten Sie ihn nicht

um Verletzungen oder Unfalle zu vermeiden.

3. Zeichnen, schneiden oder verwenden Sie keine scharfen Gegenstande am Handlauf
um Schaden zu vermeiden.

4. Wenn Sie den Handlauf demontieren mussen, folgen Sie bitte

Fuhren Sie die Schritte in umgekehrter Reihenfolge aus, um es ordnungsgeméan zu zerlegen und zu lagern.

5. Dieses Produkt ist kein Spielzeug. Erlauben Sie Kindern nicht, damit zu spielen.

mit diesem Artikel.

VORSICHTSMASSNAHMEN BEI DER MONTAGE

1. Die Montage muss ausschlieBlich gem&nR dieser Anleitung erfolgen.
Durch unsachgemafie Montage kdnnen Gefahren entstehen.

2. Tragen Sie eine ANSI-zugelassene Schutzbrille und
Arbeitshandschuhe bei der Montage.

3. Halten Sie den Versammlungsbereich sauber und gut beleuchtet.

4. Halten Sie wahrend der Montage unbeteiligte Zuschauer vom Bereich fern.
5. Nicht bei Mudigkeit oder unter Einfluss von

Alkohol, Drogen oder Medikamente.

6. Produktfunktionen gelten fir richtig und vollstéandig

nur montierte Produkte.

7. Weitere Informationen zu den in

Auf den folgenden Seiten finden Sie die Montageanleitung

Diagramm dieses Handbuchs. Alle Teile auspacken und trennen

in einem sauberen Arbeitsbereich.

8. Aus Sicherheitsgriinden wird empfohlen, diese Hardware

von 2 Personen zu montieren.
BEWAHREN SIE DIESE ANWEISUNGEN AUF



Machine Translated by Google

Modell Lange des Handlaufs (mm)
HXML-1 800
HXML-2 1535
KOMPONENTEN
NEIN. Name Bild MENGE.
A Pillen | — 1
Gro3 o

B Dekorativ &) 1
Abdeckung

c Einstellbar 1

Unterstiitzung
v
D Gelander 1
o

Klein

Dekorativ 1
Bucht

F Fester Teil 1

G Sghraube M6*12 2

H Mutter M6 @ 2

| Schraube St5*40 > 3
Plastik

J Erweiterung 3
Rohr

Erweiterung &

K Schrauben / 4
M8*60

M Schlussel S 1




Machine Translated by Google

Inbusschlissel

N Bohrer g

O Kreuzschlissel /4\

P Scheuerschwamm

SCHRITT 1:




Machine Translated by Google

SCHRITT 2:

SCHRITT 3:

SCHRITT 4:

SCHRITT 5:




Machine Translated by Google

SCHRITT 6:

SCHRITT 7:

—

Hersteller: Shanghaimuxinmuyeyouxiangongsi Adresse:
Shuangchenglu
803nong11haol602A-1609shi, baoshanqu, Shanghai 200000 CN.

Nach AUS importiert: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australien

Importiert in die USA: Sanven Technology Ltd. Suite 250, 9166
Anaheim Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147,
UK | REP Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC | REP| Mainzer Landstr.69,
60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Technischer Support und E-Garantie-Zertifikat

www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia

elettronica www.vevor.com/support

CORRIMANO IN ACCIAIO INOX
MODELLO: HXML-1 \ HXML-2

Continuiamo a impegnarci a fornirti utensili a prezzi
competitivi. "Risparmia la meta", "Meta prezzo" o qualsiasi
altra espressione simile da noi utilizzata rappresenta solo una
stima del risparmio che potresti ottenere acquistando determinati
utensili con noi rispetto ai principali marchi principali e
non significa necessariamente coprire tutte le categorie di
utensili da noi offerti. Ti ricordiamo gentilmente di verificare
attentamente quando effettui un ordine con noi se stai

effettivamente risparmiando la meta rispetto ai principali marchi prin


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR ACCIAIO INOSSIDABILE

CORRIMANO
TOUGH TOOLS, HALF PRICE

MODELLO:HXML-1\ HXML-2

el

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sui prodotti? Hai bisogno di supporto tecnico?
Non esitate a contattarci:

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

Questa é l'istruzione originale, si prega di leggere attentamente
tutte le istruzioni del manuale prima di utilizzare. VEVOR si
riserva una chiara interpretazione del nostro manuale utente.
L'aspetto del prodotto sara soggetto al prodotto ricevuto.

Ci scusiamo ma non vi informeremo piu se saranno disponibili
aggiornamenti tecnologici o software per il nostro prodotto.



Machine Translated by Google

ISTRUZIONI DI SICUREZZA

ATTENZIONE: leggere attentamente le istruzioni e le procedure
per operazioni sicure. La mancata osservanza di questa norma puo causare gravi

i@unio.ATTENZIONE:

1. Prima di utilizzare il corrimano, assicurarsi che il corrimano sia
installato in modo sicuro per prevenire lesioni personali e

incidenti.

2. Quando si utilizza il corrimano, non sovraccaricare il corrimano
per evitare lesioni personali o incidenti.

3. Non disegnare, tagliare o utilizzare oggetti taglienti sul corrimano
per evitare danni.

4. Se & necessario smontare il corrimano, seguire le istruzioni
procedere in senso inverso per smontarlo e riporlo correttamente.

5. Questo prodotto non & un giocattolo. Non permettere ai bambini di giocare
con questo articolo.

PRECAUZIONI DI MONTAGGIO

1. Eseguire il montaggio solo seguendo queste istruzioni.

Un montaggio improprio puo creare pericoli.

2. Indossare occhiali di sicurezza approvati ANSI e guanti resistenti
guanti da lavoro durante il montaggio.

3. Mantenere l'area di assemblaggio pulita e ben illuminata.

4. Tenere gli astanti fuori dall'area durante I'assemblea.

5. Non riunirsi quando si € stanchi o sotto I'effetto di

alcol, droghe o farmaci.

6. Le capacita del prodotto si applicano correttamente e completamente
solo prodotti assemblati.

7. Per ulteriori informazioni sulle parti elencate in

nelle pagine seguenti si rimanda all'Assemblea

Diagramma di questo manuale. Disimballare e separare tutte le parti
in un‘area di lavoro pulita.

8. Per motivi di sicurezza, si consiglia di utilizzare questo hardware

essere installato da 2 persone.
SALVA QUESTE ISTRUZIONI



Machine Translated by Google

Modello Lunghezza del corrimano (mm)
HXML-1 800
HXML-2 1535
COMPONENTI
NO. Nome Immagine QTY.
N Pillole i — 1
Grande N
B Decorativo 2 1
Copertina
c Regolabile 1
Supporto
v
D Corrimano - 1
o
Piccolo
E Decorativo © 1
Baia
F Parte fissa ) 1
Vite M6*12 S 2
H Dado M6 (@ 2
lo Apvitare St5*40 g 3
Plastica
J Espansione 3
Tubo
Espansione -
E Vite / 4
M8*60
L Chiave S 1




Machine Translated by Google

Chiave esagonale

N Punta da trapano g

O Chiave a croce /é\

P Paglietta abrasiva

PASSO 1:




Machine Translated by Google

PASSO 2:

PASSO 3:

PASSO 4:

PASSO 5:




Machine Translated by Google

PASSO 6:

PASSO 7:

—

Produttore: Shanghaimuxinmuyeyouxiangongsi Indirizzo:
Shuangchenglu
803nong11haol602A-1609shi, baoshanqu, shanghai 200000 CN.

Importato in AUS: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australia

Importato negli USA: Sanven Technology Ltd. Suite 250, 9166
Anaheim Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED.

UK | REP C/O YH Consulting Limited Office 147,

Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC | REP| Mainzer Landstr.69,
60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Supporto tecnico e certificato di garanzia

elettronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electronica

www.vevor.com/support

PASAMANOS DE ACERO INOXIDABLE
MODELO: HXML-1 \ HXML-2

Seguimos comprometidos a ofrecerle herramientas a precios
competitivos. "Ahorre la mitad", "mitad de precio" o cualquier otra
expresion similar que utilicemos solo representa una estimacion de los

ahorros que podria obtener al comprar ciertas herramientas con
nosotros en comparacion con las principales marcas principales
y no necesariamente significa que cubra todas las categorias de
herramientas que ofrecemos. Le recordamos que verifique
cuidadosamente cuando realice un pedido con nosotros si

realmente esta ahorrando la mitad en comparacién con las principales marec


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR ACERO INOXIDABLE
PRETIL

TOUGH TOOLS, HALF PRICE

MODELO:HXML-1 \ HXML-2

¢NECESITA AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? ; Necesita asistencia técnica?

No dude en ponerse en contacto con nosotros:

Soporte técnico y certificado de garantia electrénica
www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las
instrucciones del manual antes de utilizarlo. VEVOR se reserva una
interpretacion clara de nuestro manual de usuario. La apariencia del
producto estara sujeta al producto que recibio.

Por favor, perdénenos por no informarle nuevamente si hay alguna
actualizacion tecnoldgica o de software en nuestro producto.



Machine Translated by Google

INSTRUCCIONES DE SEGURIDAD

PRECAUCION: Lea atentamente las instrucciones y los procedimientos.
para operaciones seguras. No hacerlo puede resultar en lesiones graves.

| n.ADVERTENCIA:

1.Antes de utilizar el pasamanos, asegurese de que esté
instalado de forma segura para evitar lesiones personales y
accidentes.

2. Al utilizar el pasamanos, no lo sobrecargue.

para evitar lesiones personales o accidentes.

3. No dibuje, corte ni utilice objetos afilados sobre el pasamanos.
para evitar dafos.

4. Si necesita desmontar el pasamanos, siga las instrucciones
los pasos inversos para desmontarlo y guardarlo correctamente.

5. Este producto no es un juguete. No permita que los nifios jueguen con él.
con este articulo.

PRECAUCIONES DE MONTAJE

1. Realice el montaje unicamente de acuerdo con estas instrucciones.
Un montaje inadecuado puede crear peligros.

2. Use gafas de seguridad aprobadas por ANSI y guantes resistentes.
Guantes de trabajo durante el montaje.

3. Mantenga el area de reunion limpia y bien iluminada.

4. Mantenga a los transeuntes fuera del area durante el montaje.

5. No realice el montaje cuando esté cansado o bajo la influencia de
alcohol, drogas o medicamentos.

6. Las capacidades del producto se aplican de manera adecuada y completa.
Solo productos ensamblados.

7. Para obtener informacion adicional sobre las piezas enumeradas en
En las siguientes paginas, consulte la Asamblea

Diagrama de este manual. Desembale y separe todas las piezas.

en un area de trabajo limpia.

8. Por razones de seguridad, se recomienda utilizar este hardware.

ser instalado por 2 personas.
GUARDE ESTAS INSTRUCCIONES



Machine Translated by Google

Modelo Longitud del pasamanos (mm)
HXML-1 800
HXML-2 1535
COMPONENTES
No. Nombre Imagen CANTIDAD.
A Pastillas i — 1
Grande B
B Decorativo () 1
Cubrir
b Ajustable 1
Apoyo
v
D Pretil — 1
o

Pequefio

Y Decorativo () 1
Ensenada

F Parte fija ) 1

Tornillo G M6*12 Q& 2

yo Tuerca M6 @ 2

Atornillar St5*40 4 3
Plastico

v Expansion 3

Tubo
Expansion -

K Tornillo / 4
M8*60

yo Llave inglesa M 1




Machine Translated by Google

Llave hexagonal

norte Broca para taladro g

Llave en forma de cruz =N\

P ETropajo

PASO 1:




Machine Translated by Google

PASO 2:

PASO 4:




Machine Translated by Google

PASO 6:

—

Fabricante: Shanghaimuxinmuyeyouxiangongsi Direccién:

Shuangchenglu
803nong11hao1602A-1609shi, baoshanqu, shanghai 200000 CN.

Importado a AUS: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australia

Importado a EE. UU.: Sanven Technology Ltd. Suite 250, 9166
Anaheim Place, Rancho Cucamonga, CA 91730

UK

REP

EC

REP

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147,
Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Soporte técnico y certificado de garantia

electrénica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support

PORECZ ZE STALI NIERDZEWNE]
MODEL: HXML-1 \ HXML-2

Nadal staramy sie dostarcza¢ Ci narzedzia w konkurencyjnych
cenach. ,Oszczedz potowe”, ,,Potowa ceny” lub inne podobne
wyrazenia uzywane przez nas stanowig jedynie szacunkowe
oszczednosci, jakie mozesz uzyska¢, kupujac u nas okreslone

narzedzia w poréwnaniu z gtéwnymi markami i niekoniecznie

oznaczajg one objecie wszystkich kategorii narzedzi oferowanych

przez nas. Uprzejmie przypominamy, aby doktadnie sprawdzi¢,
czy sktadajac u nas zaméwienie faktycznie oszczedzasz

potowe w poréwnaniu z najlepszymi markami.


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR STAL NIERDZEWNA

PORECZ
TOUGH TOOLS, HALF PRICE

MODEL:HXML-1 \ HXML-2

POTRZEBUJESZ POMOCY? SKONTAKTU] SIE Z NAMI!

Masz pytania dotyczgce produktu? Potrzebujesz wsparcia technicznego?
Zapraszamy do kontaktu z nami:

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie
przeczytac wszystkie instrukcje. VEVOR zastrzega sobie prawo do
jasnej interpretacji naszej instrukcji obstugi. Wyglad produktu
bedzie zalezat od produktu, ktéry otrzymates.

Przepraszamy, ale nie bedziemy Cie juz wiecej informowac, jesli w naszym
produkcie pojawig sie aktualizacje technologiczne lub oprogramowania.



Machine Translated by Google

INSTRUKCJE BEZPIECZENSTWA

UWAGA: Przeczytaj uwaznie instrukcje i procedury

dla bezpiecznych operacji. Niedopetnienie tego obowigzku moze skutkowa¢ powaznymi

ﬁenia.OSTRZEZENIE:

1. Przed uzyciem poreczy nalezy upewnic sie, ze porecz jest

bezpiecznie zainstalowany, aby zapobiec obrazeniom ciata i

Wypadki.

2. Podczas korzystania z poreczy nie nalezy jej przecigzac.

aby unikna¢ obrazen ciata lub wypadku.

3. Nie rysuj, nie tnij ani nie uzywaj ostrych przedmiotéw na poreczy.

aby unikng¢ uszkodzen.

4. Jesli konieczne jest zdemontowanie poreczy, nalezy postepowac zgodnie z ponizszymi instrukcjami.
Aby rozmontowac i prawidtowo przechowywac urzadzenie, wykonaj czynnosci w odwrotnej kolejnosci.

5. Ten produkt nie jest zabawka. Nie pozwalaj dzieciom bawic¢ sie nim.

z tym przedmiotem.

SRODKI OSTROZNOSCI PODCZAS MONTAZU

1. Montaz nalezy wykonywac wytgcznie zgodnie z niniejszg instrukcjg.
Nieprawidtowy montaz moze stwarzac zagrozenia.

2. No$ okulary ochronne i solidng odziez ochronng z certyfikatem ANSIL.
Podczas montazu nalezy nosi¢ rekawice robocze.

3. Utrzymuj miejsce zgromadzenia w czystosci i zapewnij dobre oswietlenie.

4. Podczas montazu nie dopuszczaj 0oséb postronnych na teren montazu.
5. Nie nalezy uczestniczy¢ w montazu, bedgc zmeczonym lub pod wptywem alkoholu.
alkohol, narkotyki lub leki.

6. Mozliwosci produktu sg stosowane prawidtowo i w petni

tylko produkty zmontowane.

7. Aby uzyskac¢ dodatkowe informacje dotyczgce czesci wymienionych w
na nastepnych stronach prosimy o zapoznanie sie z Zgromadzeniem
Schemat tej instrukcji. Rozpakuj i oddziel wszystkie czesci

W czystym miejscu pracy.

8. Ze wzgledéw bezpieczenstwa zaleca sie uzywanie tego sprzetu

moze by¢ zainstalowany przez 2 osoby.

ZAPISZ TE INSTRUKCJE



Machine Translated by Google

Model Dtugoé¢ poreczy (mm)
HXML-1 800
HXML-2 1535
SKEADNIKI
NIE. Nazwa Zdjecie ILosC.
A Pigutki i — 1
Duzy =

B Dekoracyjny ) 1
Okfadka

C Nastawny 1
Wsparcie

v
D Porecz 1
L
Maty
I Dekoracyjny 1
Zatoczka

F Czes¢ stata 1

Srubla M6*12 2

H Nakretka M6 @ 2

Sruba St5*40 w 3
Plastikowy

J Ekspansja 3

Rura
Ekspansja &

K Sruba / 4
M8*60

L Klucz S—c 1




Machine Translated by Google

Klucz imbusowy

r
N Wiertto %

O Klucz krzyzowy SN

P Ggbka do szorowania

KROK 1:




Machine Translated by Google

KROK 2:

KROK 4:




Machine Translated by Google

KROK 6:

—

Producent: Shanghaimuxinmuyeyouxiangongsi Adres:
Shuangchenglu
803nong11hao1602A-1609shi, baoshanqu, szanghaj 200000 CN.

Importowane do AUS: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australia

Importowane do USA: Sanven Technology Ltd. Suite 250, 9166
Anaheim Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED.

UK | REP C/O YH Consulting Limited Office 147,

Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC | REP| Mainzer Landstr.69,
60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat

Www.vevor.com/support

RVS LEUNING
MODEL: HXML-1 \ HXML-2

Wij blijven ons inzetten om u gereedschappen te leveren tegen
concurrerende prijzen. "Save Half", "Half Price" of andere soortgelijke
uitdrukkingen die wij gebruiken, vertegenwoordigen slechts een schatting
van de besparingen die u kunt behalen door bepaalde gereedschappen
bij ons te kopen in vergelijking met de grote topmerken en
betekenen niet noodzakelijkerwijs dat alle categorieén gereedschappen
die wij aanbieden, worden gedekt. Wij herinneren u eraan om
zorgvuldig te controleren of u daadwerkelijk de helft bespaart

in vergelijking met de grote topmerken wanneer u een bestelling bij ons plaat


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR ROESTVRIJ STAAL
LEUNING

TOUGH TOOLS, HALF PRICE

MODEL:HXML-1\ HXML-2

L

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig?

Neem gerust contact met ons op:

Technische ondersteuning en e-garantiecertificaat
www.vevor.com/support

Dit is de originele instructie, lees alle handleidinginstructies zorgvuldig

door voordat u ze gebruikt. VEVOR behoudt zich een duidelijke interpretatie
van onze gebruikershandleiding voor. Het uiterlijk van het product is
afhankelijk van het product dat u hebt ontvangen.

Wij vragen u om uw excuses, want wij informeren u niet meer als er
technologische of software-updates voor ons product beschikbaar zijn.



Machine Translated by Google

VEILIGE INSTRUCTIES

LET OP: Lees de instructies en procedures zorgvuldig door

voor veilige operaties. Als u dit niet doet, kan dit leiden tot ernstige

8. WAARSCHUWING:

1. Voordat u de leuning gebruikt, moet u ervoor zorgen dat de leuning goed vastzit.
veilig geinstalleerd om persoonlijk letsel te voorkomen en

ongelukken.

2. Bij het gebruik van de leuning mag u de leuning niet overbelasten

om persoonlijk letsel of ongelukken te voorkomen.

3. Teken, snijd of gebruik geen scherpe voorwerpen op de leuning

om schade te voorkomen.

4. Als u de leuning moet demonteren, volg dan de onderstaande instructies:

de omgekeerde stappen om het te demonteren en op de juiste manier op te bergen.

5. Dit product is geen speelgoed. Laat kinderen er niet mee spelen.

met dit item.

MONTAGEVOORZORGSMAATREGELEN

1. Monteer het geheel uitsluitend volgens deze instructies.

Onjuiste montage kan gevaren opleveren.

2. Draag een door de ANSI goedgekeurde veiligheidsbril en een stevige veiligheidsuitrusting.
Werkhandschoenen tijdens de montage.

3. Zorg ervoor dat de montageplek schoon en goed verlicht is.

4. Houd omstanders uit de buurt tijdens de montage.

5. Monteer niet als u moe bent of onder invioed van

alcohol, drugs of medicijnen.

6. Productmogelijkheden zijn van toepassing op de juiste en volledige

Alleen geassembleerde producten.

7. Voor aanvullende informatie over de onderdelen die in dit document worden vermeld,
de volgende pagina's, zie de Assemblee

Schema van deze handleiding. Pak alle onderdelen uit en scheid ze.

in een schone werkruimte.

8. Om veiligheidsredenen wordt deze hardware aanbevolen

door 2 personen geinstalleerd worden.
BEWAAR DEZE INSTRUCTIES



Machine Translated by Google

Model Lengte van de leuning (mm)
HXML-1 800
HXML-2 1535
COMPONENTEN
Nee. Naam Afbeelding AANTAL.
A Pillen | — 1
Groot —
B Decoratief 2 1
Omslag
c Verstelbaar 1
Steun
v
D Leuning - 1
2
Klein
En Decoratief © 1
Inham
F Vast onderdeel ) 1
G Sghroef M6*12 S 2
H Moer M6 (@ 2
Ik s¢hroef St5*40 > 3
Plastic
J Uitbreiding 3
Buis
Uitbreiding ~
Ik Schroef /7 4
M8*60
Ik Moersleutel S—2 1




Machine Translated by Google

M Inbussleutel -

N Boortje g
. 4\

O Kluissleutel 4\

/

P Schuursponsje

STAP 1:




Machine Translated by Google

STAP 2:

STAP 4:




Machine Translated by Google

STAP 6:

—

Fabrikant: Shanghaimuxinmuyeyouxiangongsi Adres:

Shuangchenglu
803nong11haol602A-1609shi, baoshanqu, shanghai 200000 CN.

Geimporteerd naar AUS: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australié

Geimporteerd naar de VS: Sanven Technology Ltd. Suite 250,
9166 Anaheim Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147,

Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

UK | REP

E-CrossStu GmbH

EC | REP| Mainzer Landstr.69,
60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Technische ondersteuning en e-

garantiecertificaat www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat

www.vevor.com/support

ROSTFRITT STAL RAKKE
MODELL: HXML-1 \ HXML-2

Vi fortsatter att vara engagerade i att ge dig verktyag till
konkurrenskraftiga priser. "Spara héalften", "halva priset" eller
andra liknande uttryck som anvands av oss representerar bara en
uppskattning av besparingar du kan dra nytta av att kbpa vissa
verktyg hos oss jamfoért med de stora toppmarkena och

betyder inte nédvandigtvis att tacka alla kategorier av verktyg
som erbjuds av oss. Du paminns vénligen om att noggrant
kontrollera nar du gor en bestallning hos oss om du

faktiskt sparar halften i jamforelse med de framsta stora varumarken


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR ROSTFRITT STAL

LEDSTANG
TOUGH TOOLS, HALF PRICE

MODELL:HXML-1\ HXML-2

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfrdgor? Behgver du teknisk support?
Kontakta oss garna:

Teknisk support och e-garanticertifikat
www.vevor.com/support

Detta &ar den ursprungliga instruktionen, 1&s alla instruktioner
noggrant innan du anvander den. VEVOR reserverar sig for en
tydlig tolkning av var anvandarmanual. Utseendet pad produkten
ar beroende av den produkt du fatt.

Ursékta oss att vi inte kommer att informera dig igen om det finns
nagon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

SAKERHETSINSTRUKTIONER

VARNING: Lé&s instruktionerna och procedurerna noggrant

for séker verksamhet. Underlatenhet att géra det kan leda till allvarliga konsekvenser

ﬁa.VARNING:

1. Innan du anvander ledstangen, se till att ledstdngen &r
sakert installerat for att forhindra personskador och

olyckor.

2. Nar du anvander ledstangen, 6verbelasta inte ledstangen
for att undvika personskador eller olyckor.

3. Rita, skar eller anvand inte vassa foremal pa ledstangen
for att undvika skador.

4. Om du behdver ta isar ledstangen, vanligen folj

de omvanda stegen for att ta isar och forvara den pa ratt satt.

5. Denna produkt &r inte en leksak. Lat inte barn leka
med detta foremal.

FORSIKTIGHETSATGARDER FOR MONTERING

1. Montera endast enligt dessa instruktioner.

Felaktig montering kan skapa faror.

2. Bar ANSI-godkéanda skyddsglasdgon och kraftiga skyddsglaségon
arbetshandskar vid montering.

3. Hall monteringsomradet rent och val upplyst.

4. Hall &skadare borta frdn omradet under monteringen.

5. Montera inte nar du ar trott eller paverkad av

alkohol, droger eller mediciner.

6. Produktens kapacitet galler korrekt och fullstandigt

endast sammansatta produkter.

7. For ytterligare information om delarna som listas i

pa foljande sidor, hanvisa till férsamlingen

Diagram 6ver denna manual. Packa upp och separera alla delar
i ett rent arbetsomrade.

8. Av sakerhetsskal rekommenderas denna hardvara att

installeras av 2 personer.
SPARA DESSA INSTRUKTIONER



Machine Translated by Google

Modell Ledstangens langd (mm)
HXML-1 800
HXML-2 1535
KOMPONENTER
Inga. Namn Bild ANTAL.
A Pillar | — 1
Stor _
B Dekorativ = 1
Tacka
c Justerbar 1
Stod
v
D Ledstang 1
L
Smé
Dekorativ 1
Cove
F Fast del 1
G Skruv M6*12 2
H Mutter M6 @ 2
| S¢rew St5*40 > 3
Plast
J Expansion 3
Ror
Expansion -
K Skruva /7 4
M8*60
L Rycka S 1




Machine Translated by Google

Insexnyckel —
N Borr %
4\
O Karsnyckel é\\

P Skursvamp

STEG 1:




Machine Translated by Google

STEG 2:

STEG 4:




Machine Translated by Google

STEG 6:

—

Tillverkare: Shanghaimuxinmuyeyouxiangongsi Adress:

Shuangchenglu
803nong11haol602A-1609shi, baoshanqu, shanghai 200000 CN.

Importerad till AUS: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australien

Importerad till USA: Sanven Technology Ltd. Suite 250, 9166
Anaheim Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147,
Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

UK | REP

E-CrossStu GmbH

EC | REP| Mainzer Landstr.69,
60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Teknisk support och e-garanticertifikat

www.vevor.com/support


https://www.vevor.com/support

